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1. 99 TS GeI H 18 ®1 g3 gt B, ot 9 W & 154% B
Tl 8 | IS T R?
When a number is increased by 18 then, it becomes 154% of
itself. What is the number?
a. 30 b. 100/3

25/3 d. 76/3

2. 3T UD W 60 faAT W T gt 45 fo1 & Ve &= qopar
{1 I Y I1Y AP d i pad 15 AT o rd R A
THd ¢ |, JTd B 16 T 3R T S, ot g | 25%
P FHFHI 8, B e orf e & fba fe=i &1
TG A
Dev can paint a house in 60 days and Atul can do it in 45 days.
Along with Rani, all three can do the job in 15 days only.
Then, how many days will both Rani and Rajjo , who is 25%
less efficient then Atul, take to do the job together?

a. 30feH b. 12% f&a
12 % days

c. 25fed d. 2uxfe

25 days 22 % days

3. qIvenmisar g fo=m & sa faft/eer aur o2 fehi/der

P 7fd A I TGN €, STP! AaTS HHTT: 400 HISR 3R 360
Hiex g1 o nifa arelt &1 gy et w1y areht 39+ R
P A foran v (Qds H) | R?
Two trains are moving in the same direction at speed of 54
km/h and 92 km/h, their lengths are 400 m and 360 m
respectively. What is the time taken (in seconds) by faster
train to cross the slower train?

a. 60 b. 72
81 d. 90

4. 2400 3. R 9Ife U F TANTT 20% arfifer @® R, 2 auf
T Iepqis STl (3. 6) ArA B
What is the compound interest (in Rs) on Rs 2400 at the rate
of 20% per annum compounded yearly for 2 years?

a. 960 b. 1024
1056 d. 1120

5. 50%BIGIHABPE_ BITH e e d WIaR gl

Two successive discounts of 50% is equal to giving one

discount of .
a. 100% b. 90%
95% d. 75%

6. 45000 & 15% T 0.08% TR %— 0.08% of 15% of 45000 is

equal to
a. 54 b. 540
0.54 d. 54

7. A3 fEHR, T ed B o R AP Tpa g1 Tl iRy
T TG | A, B F ST T A T $1f Hrar 8, Y 91
P & A B AP BT B GHT HA | fHa-m g
GUIE
A and B together can do a piece of work in 9 days. If A does
thrice the work of B in a given time, the time A alone will take
to finish the work is:

13.

14.

a. afeq b. efea

4 days 6 days

c. sfed d. 123

8 days 12 days
qﬁgsﬁm%éﬁ%%ﬁ’fﬁﬁﬁﬁi&Aﬁﬁﬁﬁuﬁm
PHE?

If A is 40% more than B, then B is how much percent less than
A?

a. 28.57 b. 40
Cc. 3333 d. 66.66
Tfd (4/5)A =38 = (2/3)C, A A: B: CHTE?
If (4/5)A = 3B = (2/3)C, then whatisA:B: C?
a. 12:3:16 b. 12:45:10
c. 15:4:18 d 9:12:16
AP PIHOM: (13)% (14)? + (17)2-250 = V2
Simplify: (13)2 - (14)% + (17)%2- 250 = v?
a. 196 b. 169
c. 121 d. 144
141 x 142 x 143 BV 6 A fAUTRTG HI TR AvBA R
a. 0 b. 2
c. 4 d 5
@ 3ipT arelt T ot Wt 8, 5t 3 9 fywrsa g df
73 fAursa T 82
How many two digit numbers are divisible by 3 but not by 7?
a. 13 b. 26
c. 30 d. 47
Uy B g B & ¢ 9 SugH fdweq &1 9
Bifergl
54:6x(25-20+5)+7=
Select the most appropriate option to solve the question.
54:6x(25-20+5)+7=
a. 27 b. 9
32 d.
W & 7€ arfereT faw T aut A fdt ot & ufa
Y (1@ U ) $1 faavor fRardit 21
1S 3raf P R HU-1 B! ufd Iy <uTer Y S TRy
= & w1 g uSh (ara vuT H)

Table below shows the details of the Expenditure of a
company (in lakh rupees) p.a. over the given years.

Salary Fuel & Bonus Interest | Taxes
Transport on loans
2012 2BE o8 3.00 23.4 B3
2013 342 112 2.52 325 108
2014 324 101 3.B4 41.6 74
2015 336 133 3.68 364 B3
2016 420 142 3.96 49,4 23

What is the average amount of interest per year which
company had to pay during the given period? (in lakh
Rupees)
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a. 3243
C.

15.

16.

17.

b. 33.72

34.18 d. 36.66

i & 7S aifereT faw e 9wt A fFft Fut & ufa o
Y (W1E U §) &1 faawor feardt g1
& 13 3af & IR U gRT YA B T 99 Bl
T i, T 3afl & IR Y 31 a1 B pa
1 T AU foaem wfersra 82

Table below shows the details of the Expenditure of a
company (in lakh rupees) p.a. over the given years.

Salary Fuel & Bonus Interest | Taxes
Transport on loans
2012 288 o8 3.00 234 B3
2013 342 112 2.52 325 108
2014 324 101 384 41.6 T4
2015 336 133 3.68 36.4 88
2016 420 142 396 49.4 98

Total amount of bonus paid by the company during the given
period is approximately what percent of the total amount of
salary paid during the given period?

0.1% b. 0.5%

1.25% d 1%

= fear war R =1é (‘000 sHT3AT ) faewt gwitar B
2015 A 578 3 P fae) o 2 A fran ufa=ma siftre 82
The bar chart given below shows the sales(in ‘000 units)

BEBrand 1 @ Brand 2 B EBrand 3 @ Brand 4

10 9.5

q B.5

8 78

7

6
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J e

B ey b
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2 24N 4

3 L b

. E4 %

2 o o

L %

; 2 ]

2014 2015

By what percentage the sales of brand 3 is more than Brand
2in 2015.

28 b. 30

32 d. 39
= faan mar IR =7 (‘000 3HTEAT ) fae) grifar @

2015 ® Tt 7SY BT, 2016 A I TSt A SFUTA &:-

The bar chart given below shows the sales(in ‘000 units)

18.

19.

20.

BEBrand 1 BEBrand 2

=

oo~ 0 0

The ratio of all brands together in 2015 to those of in 2016 is-

a. 51:61 b. 37:78
25:37 d. 37:25

TP W F T 31 dars 60 A 3R ST 30 W B
- A T} ST oATaT 8| 30 W B aren v THIe R
Tl g i ave A 9o W GaT goi 8 | 91d & {5 i
P Jars fraa At geam?
A steel vessel has a base of length 60 cm and breadth 30 cm.
Water is poured in the vessel. A cubical steel box having edge
of 30 cm is immersed completely in the vessel. By how much
will the water rise?

a. 129 b. oJHt

12 cm 9cm

c. 109 d. 159

10 cm 15cm
TP dPal & s B 9% Y8 &A% d B 20 30 Ui
it fiex @) o3 A Ui &1 o) oo @t wn g, afe
DT AT 40 A 3R FHa1s 7 e @2
What will be total cost of polishing curved surface of a
wooden cylinder at rate of Rs. 20 per m?, if its diameter is 40
cm and height is 7 m?

a. 186 ® QY b. 184 Y

Rs. 186 Rs. 184

c. 175%0 d. 176 00

Rs. 175 Rs. 176
R few e e &, Ao THIAR agd=I 81 p, BC A UF faig
THUPR P PB: PC=1:2DP 3R AB B 9T Q R
foren fear e 21 Afe aBPQ T &% 20 T TS ©, At
ADCP T &FAHE T 8?2
In the figure given below, ABCD is parallelogram. P is a point
in BC such that PB : PC = 1 : 2 DP produced meets AB
produced at Q. if the area of ABPQ is 20 sq units, what is the
area of A DCP?

A B Q
P

D C

a. 20 SHIg b. 40T IHIS

20 sq units 40 sq units
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c. 60 aﬁsao‘ré

60 sq units

21. &S 3ot & 71 ug w1 FIfvE)
6,7,10, 13, 21, 37
Find the wrong term in the given series.
6,7,10,13, 21,37
a. 37 b. 13

10 d. 6

22. U fAfYaEe® ARUN BT svTB & TUH @ wmar @ SR
YUVI I zTPc & U H forar 9ITaT 81 39 $e | RAVI BT
FA Rrar ST @
In a certain code, ARUN is coded as SYTB, And YUVI as ZTPC,
then how is RAVI coded in the same way?
a. YSPC b. CYsp

YCSP d. YPSC

23. A= FmfafEa ot eriyef wa & srafa Fifsre:
1- UI¥e Sie
2-UA
3- frwT®T
4- faaRor
5- Rt
DIRECTIONS: Arrange the following in a meaningful order:
1- Postbox
2- Letter
3- Envelope
4- Delivery
5- Clearance

a. 3,2,4,51

3,2,1,5,4

24. IR TGOS A E €, A | i et 7 et wu A
TP T ¢ 3R T A B | S Hel-g T aa-T Siford
S RE R
Four number-pairs have been given, out of which three are
alike in some manner and one is different. Select the
number-pair that is different
a. 12-432

16-176

25. feu e Sy=Y 3R fAwul &1 ufew| ug #Ed
gY & FYl ¥ &) 1€ TFeR) I §, YA 8 98 "
FTU Y Fd 7 | R ueila it 8, aa Fifvr f e e
sl & @ F19 91 FYAL BT AIfhd TU J SFIROT
FIATRI
DYA:
gt Bl A 7
PO a9 |
frep:

d. STHIDIE TN

None of these

b. 2,3,1,4,5
d. 3,2,1,4,5

b. 5-1150
d. 27-72

() PO 9W A &

(1) T S P &1

(1) O AT Ta@ F |

Read the given statements and conclusions carefully.
Assuming that the information given in the statements is
true, even if it appears to be at variance with commonly

26.

27.

28.

29.

known facts, decide which of the given conclusions logically
follow(s) from the statements.

Statements:

All coats are shoes.

Some shoes are ducks.

Some ducks are apples.

Conclusions:

(1) Some ducks are shoes.

(11) All shoes are coats.

(111) Some apples are ducks.

a. Had sHY | IR b. foeft ot e &1
AT 3T TG BRAT &
Only conclusion | follows None of the conclusions
follows
c. HaqAsHY I WU d. FAHy | R e i gt
FRATY IR BT 8

Both conclusion | and
conclusion Il follow

Only conclusion Il follows

39 fAwe &1 999 $Iv/ &t fW ug § It yHR
Hafid 8 ford yoR goRT ue Ugd ug & Hafia 71
3:25::4:?
Select the option that is related to the third term in the same
way as the second term is related to the first term.
3:25::4:7?
49 b. 25

c. 10 d. 36
ot FIf3a e TST & "WORKING" BT "owIKRGN" foraT
SraT 81 3t Fe UTaT H "BANKING" B T UPHR forar
SITE?
In a certain code language, "WORKING" is written as
"OWIKRGN". How is "BANKING" written in that code
language?

a. GNIKNAB b. ABIKNGN
KINGBAN d. NABKGNI
U& TSP Bl SR TIRT HXd §Y, I (I29) 5 Fgl,
"IOP 7S T8 & U, v, A vrar ot F ufa
I B G, 3] | for wopR el @2
Pointing to a boy, Raju (male) said, “His elder sister’s father,
Raj is the husband of my only daughter". How is Raj's
daughter related to Raju?

a. ot b. I

Daughter Granddaughter

c. &g d. Heiter

Sister Nephew
I faweu snpfa &1 7= Fifoe R uy snepfa fsdt

ge/MfRa g

Choose the options figure in which the problem figure is
hidden/embedded

Question Figure:

o
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[
a b.
C. @ d.
30. PP AR A sgRirmyr v aes e
AP St uga 7 78

8953253855687335775365335738
How many 5's are there in the following sequence which are
immediately followed by 3 but not immediately preceded by

;953253855687335775365335738
a. Uh b. &l
One Two
c. dH d. @R
Three Four

31. NS & TP cPhs Bl Hied d1HH IR P fiF A g8
BT SRS B PleT T 7, 39 FHufaf@a snefaat o
21T T 8 | Wiem R 98 SRS bl fe@ e

The sequence of folding a piece of paper and the manner in
which the folded paper has been cut is shown in the
following figures. How would this paper look when

unfolded?
I fog]
.
WO A A
0' |<> ol0 Olo
Qo 0I© Olo 0I¢
P T} Pl L
a b.
W N
ol0 Olo olO Olo
o) o
RN L oo
C. .

32. SR MMgpfa # Fafafad & @ <19 a1 97 uy pfa &
A I P SATYR TR 8 a4141 ST HPpell 82

Which of the following cube in the answer figure cannot be
made based on the unfolded cube in the question figure?

A

&

B | D
h
12N

33.

34.

35.

36.

37.

a. PxR+P
c. QxR+P d.

B>

6B
B

ANEB

TP &1 A U i &1 p, R A 34fUF 37 Ured HRar @
AP o frar 7| s A S=aw siw W fFaT 1 7, A
gﬁm%mmél oo e w4 of@ yrw fpar
?
There are five friends in a class. P scores more marks than R
but not as much as Q. S is the highest marks scorer. T scores
more marks than Q. Who scores the lowest marks?
P b. Q

c. R d T

39 fawey &1 999 FIRE ot dR g F S yHR
Heiftrd 8 o U R goRT Weg, g d e A WaRE B
m(mwrt@) :QT&‘IT::W:?

Select the option that is related to the third word in the same
way as the second word is related to the first word.
Professor : Education :: Soldier : ?

a. a'QTCountry b. &I Defence
T U Patriotism d. a_c(FfUniform

fau T el o & I ER-TUG PT TG BT oI
Frafafea o ¥ yyaras g (2) @ gfawfud a1
FHarg|

BHO, GMT, LRY, ?

Select the letter-cluster from among the given options that
can replace the question mark (?) in the following series.
BHO, GMT, LRY, ?

a. Iou
C. HMT

b. DIL
d. Qwb

AxBHTIHS A 'B PIATRI

A:BHTHS R A B BT RI

A-BHTHY A 'B' BT TR
fFrafafaa 3 @ feger arf g % o e &1 9T/ 9RE
g2

A x B means 'A' is the mother of 'B'.

A + B means 'A' is the son of 'B'.

A - B means 'A' is the sister of 'B'.

Which of the following would mean that 'Q' is maternal
uncle/aunt of 'P'?

b. Q+R-P

PxR-Q

Tfe 'RUTHENIUM' TG & 3I&RT HI quiETeT & HH |
TN ST §, ot St aret Si&R & e 3R oy iR
ghm|

If the letters of the word 'RUTHENIUM' are arranged in
alphabetical order, the middle letter will be to the right of
the second letter.
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a. | b.
c. T d.

38. FEAA T IRE FufiiEa & dua e ot grtar
H
Which of the following diagram shows the relationship
between the following.
cattle, horse, mare

©9 B

Qo (o)

C. d.

39. 65O B P&TH fIepid &1 v WY I sxiiHai g @ o
A ITPT DI T I §IIN?

Vikrant's rank in a class of 65 students is thirty-second from
the top, what will be his rank from the end?
a. 33 b. 34

32 d. 30

40. 39S fAweu o1 I 3 &l Fufafad =i & aifes
3R e wa § Faw &) $Fa Frar g1
1. @S 2.9-18 3.fazg
4. TR 5. afeTg
Select the correct option that indicates the arrangement of
the following words in a logical and meaningful order.
1. Universe 2. Chennai 3. World
4. Asia 5. Tamil Nadu
a. 1,3,425 b. 1,4,35,2

c. 1,3,452 d 31542

41. feu e frs &1 suFyd® sreag ¥ o few e faweut
gga?mgﬁqﬁﬁwﬁuwﬁmnmmﬁ
|

Study the given grid carefully and select the number from the
given options than can replace the question mark (?) in it.

16 16 14
128 7 126
8 5 9
a. 80 b. 124
130 d. 7

42. zy#lggagly,mAaRagIm 1HTETRIT, L
faafeagiL p BT ATATR I X, Y PI AT RN ), 2 BT RAT B
LY ¥ HY Hafta g2
Z is the sister of Y. Y is married to M. M is the son of T. T is
married to L. L is the mother of P. X is the mother of Y. J is
the father of Z. How is L related to Y?

a. AT DI AT b. fUar &t A
Mother’s mother Father’s mother
c. Ufd® AT d. Udl &l ATl

43.

44.

45.

46.

47.

Husband’s mother Wife’s mother

R g 79 = Bl ¢ 3R IR B 3R 7 bt welt
21 firY 98 o gadt B, 4 5 gad! 8, 31 gedi @ ok
10 feft Torclt 3 1 fhy a8 T ge et B 3R 6 frell arerci 21
a‘s'a'rﬁmaﬁgseﬁ% 3 fptit Terdlt § oM faig £ R Fabelt
%zrr ;%ﬁywugaﬁ%maﬁm:ﬁgwﬁvm

(mﬁﬁgaﬁmgmﬁtﬁ?)

Bharti starts from point T and drives 7 km towards north.
Then she turns right, drives 4 km, turns right and drives 10
km. She then turns right and walks 6 km. She takes a final
right turn, drives 3 km and stops at point E. How far and in
which direction should she drive to reach point T from point
E?

(All turns are 90° turns only)

a. IR 3R 2 fobel b. Jd I 3R 2 foreit

2 km towards north 2 km towards east

c. U\ & 3R 2 fardt d. ROt SR 2 fardt

2 km towards west 2 km towards south
fFrafafaa fifia gear 3, v W g 3 1 g 2se J1d
aﬂlﬁq |
X24, P16, HS, ?, R18,J10
In the following mixed series, one term is missing. Find out
the missing term.
X24, P16, HS, ?, R18, J10

a. 726 b. Y25
Al d. B2
U T Trecf Y 3T Ut I &b HH W AAFRIT B}
Arrange the given words in the sequence in which they occur
in the dictionary.
1- Blimpish
2- Bluebonnets
3- Blessed
4- Blatherskite
5- Bleacheries

a. 12543 b. 45312

C. 45321 d. 43512
B: i A, B, ¢, D, ETUTF TS TA W, F5 DI 3R A PP
ASTIE, DP I 3RE; c, AR BFITARIF, E3RA
FdTTAR I s F A SR P F?
Six friends A, B, C, D, E and F are sitting in a circle facing the
centre. E is to the left of D; C is between A and B. F is between
E and A. Who is on the left of B?

a. A b. C

D d. E

fou v fawent & ¥ 9 v fAf¥a aiF | wuE §
gTalTp, Uh fApey SR A P Re e 8| SH AP &1
g B Y 3T A A B
Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

a. XYA b. MNL

c. TUuS d. UH

Mob. - 7737404085, 8209244090
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48. feu Wt fawent A @, f9 e FAfda a8 I Ju= g
gTaife, T fAwer o Fi9 & wae =18t 81 39 fawe
P T B o S A AT B
Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

x = A = Alx ©
o 4|0 +|X +|B A
Jay = X (o] =
(M (2) (3) “4)
a. ©fd3 b. Bfda
Image 3 Image 4
c. Bfd1 d. afd2
Image 1 Image 2

49. fwfafEa uy snefad & Wy o 19 W I Pl
qof B3

Which answer figure will complete the pattern in the
following question figure?

a. E

C. d.

50. U® g U F IR rert-ren Rufeai s wd 81 3w
&R BT TG B3 1 F &R qTal de & fausia gim|
Four different positions of the same dice are shown. Select
the letter that will be on the face opposite to the one having

the letter F.
s D A A
C B B B
B C E F
a. D b.
C d. E

51.  fafafea o Qo9 @ S snefa & U o vy arepfa
T F o SireT o 9Par 22

Which of the following answer figure patterns can be
combined to make the question figure?

Y
"G

L8, (@
B, B

52.  Ofg AR ®1wraal e grar A fA e qd 8, A warg
Afg" ®1 3Aqal fga o= | fam ghm?

If the seventh day of the month is three days before Friday,
then which day will be the nineteenth day of the month?

a. @R b. HHAR

Sunday Monday
ECEIN d. Y[hdRR

Wednesday Friday

53. Y13 ojRaen W uy g (7) BT R I M2

Which will replace the question mark (?) in the given series?
25:15625::26:7?

a. 17576 b. 17545
c. 17550 d. 16557
54. gl fawey 199 Piforg
I : fag a2

Select the correct option -
Assam : Bihu :: Kerala : ?

a. DD b. PRIgS!
Kathhak Kuchipudi
c. HXdAeIH d. HDal
Bharatnatyam Kathkali

55. frufafed faeeat # @ faww wreg sma Sifore?

Find the odd word out of the following options?

a. T b. Rraaqs

Ganga Shivsamudra

c. Y3fiUR d. S

Dhuandhar Jog

56. feu wu fAspul A A H=-91/9 e o 1w Hy=i &1

b U | STV HIAT/BIA 2/82
YT : $O (ArS, TaF T
Tl e, AR
e 1. po e, a7
. g faerst, o g1

Which of the given conclusion(s) logically follow(s) from the
given statements?

Statement :

Some players are singers.

All singers are tall.

Conclusion :

I. Some players are tall.

Il. All players are tall.

a. 1R IEH! b. Fad

Both land Il Only |

c. Padl d. AdeiRASN
Only Il Neither | nor Il

57. frufaf@a a9 sm@ # Ays fhde &t cxfar 8, 99
Peald B gRITaT 8 3R ATId HaSt B STaT 81 &R}
BT PHI--TT TYE - faanfeal &) gifar @ ol Hagl iR
¥ Qad € Afp peara gl
In the following Venn Diagram, the triangle represents
cricket, the circle represents football and the rectangle
represents kabaddi. Which set of letters represents players
who play kabaddi and cricket but not football?

Mob. - 7737404085, 8209244090
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b. E
d. DE

58. 39 faweu 199 S, ot §i Wit e fa Ft gdur ofy
¥ a9 Fieead & 1§ A9 Qa1 g, 79 gUuT i AB 3@T
WRI@ AT

Choose the alternative which most closely resembles the
mirror image of the given figure when the mirror is placed at
the AB line.

4

4 ’
o 3

C. d.

59. fadwr R fRw g wy &, U SR IUF arg 1 3R A
3ifpd &Y fepd faw 7w &1 Ut AT T Hu=l HY g
AT ® U & 3 71a qa) | et uelta g1 81 U
g TG 12 P U e By ' & -9 e Aifda
U T ST awar gl

PY: ATB SIS b SR, AR A TR A BTH HIAT I
F far

ﬁ'ﬁﬂfz

1. ST PTafed Tt ST I18d & 3R TR W e UHe
AL

II. R BTH B & [ Th ST aTdTar VT &all 8 SR HU-t
P SUCHATIEMT 8|

Directions: In each of the following questions, the statement
is given followed by two conclusions numbered I and Il. You
have to consider the statement to be true, even if it seems
to be at variance from commonly known facts. You are to
decide which of the given conclusions can be drawn
definitely from the given statement.

Statements: During the lockdown, people started doing work
from home.

Conclusions:

I. People don't want to go to the office and like to stay at
home.

Il. Home gives a good environment to work and increases the
productivity of the company.

a. %aﬁ?uaﬁeﬂﬂwaﬂ?r b. I Il TR HAT &

only Il follows

m

both I and Il follow

c. PAAHTMUGATE  d. I SR 11 STIROT
Only | follows W%

60.

61.

62.

63.

64.

65.

. HIdT Mother

neither | nor Il follows

frafafea smefoal # fra-t W e &
How many straight lines are there in the following figures?

JAVAN

13 b. 11
12 d. 10

fFrafafea & 3 fea snefa o snefa &1 f&ar war um
fur ar siafifea 22 (gof= #Y srgufa 781 )

In which of the following figures, the given part of the figure
is hidden or embedded? (Rotation is not allowed)

-

d.@

TS Afgar o1 ufvad 3 gu e A wg1, "ag WA &
fOrar Ft gwadt Tt 31 @ afzen fAfRa @ fFa vor
Heiftra g2

Introducing a woman Nikhil said, "she is the only daughter of
the father of my maternal uncle". How is the woman related

to Nikhil?
b. $a, - Cousin
d. 3fi< Paternal Aunt

dgH Sister

frafafEd gaar & vy g () F ™A R B9 & T=@n
B AR e?

What number should come in place of the question mark (?)
in the following series?1.5, 5, 10.5, ?, 27.5

12 b. 14
11 d. 18

% fAfda ge uraT A 1210 e F =0 A @ wrar @
3R '1331' B '8’ & FU A forar Sran § I e uTwr A
2016' B Y fer@T wIrem?

In a certain code language '1210' is written as '4' and '1331'
is written as '8 How will '2016' be written in that code
language?

16 b. 9

10 d. 13

TS BT U TR A Sferor = & aeqr = wean g, e
A IR 3R G et 8, 2 fit =reran @ 8k 3 &g
TS a1 2 3R 7 A arfY 3R gean @ v 2 feht gaan
21 98 3ra gférumad fa=m & 450 gear § 3R 31 Biaw
gm%ugw%laﬂ%w%ﬁzﬁﬁmﬁaﬁﬁm%m
A student starts from his house in south direction, then turns
to his right, walks 2 km and turns to his left and again turns
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66.

67.

68.

69.

to his left and walks 2 km. He now takes 450 turns in
clockwise direction and reaches his college. In which
direction is his college with respect to his house?

3R North b. &l South
H'f\&I'UT—UjSoutheast d. GAUT-UfEH southwest

T 96 3 AT DI HH B AT TS FIT123 2P0
PR §-
The right to reduce or increase the strength of the police
force1232

gi%ﬂrns -IGRI® Director b. ISIUTd Governor

General of police
T TBR state d. PUfd President

government

4 g U= & G el W ISauTe &1 JageR
The advisor to the governor on all questions of state police
administration is-

ﬂ’s’ﬂﬁl’d home Secretary b. Hg BNl inspector
general

Hg fS2I Director d. fferm superintendent

General

Tt safart gy b Y araRTy @ arfy St 2 -

Injury caused by an offense committed by a person -

fad &l to the person b. JHS Bl to society

TR Ud FHTS d. SRIFdH Y B T

@I individual and society neither of the above

3T @ ¢ fF v gar safew oo oy arie &t
3T PE Y81 & | SId 3Ty IHA UY HYd @ dl 98 hedl
5 a8 oY 1t Hg=T TTg 8 HEA B WaAdT SHS U
21 aivy amive yfery & Rreraa s arear 31 fRufa
:ﬁmﬁm@ﬁwmﬁ%mmﬁaﬁﬁﬁaﬂﬁaﬁ

You see a young man abusing a senior citizen. When you
question him, he says that he has the freedom to say
whatever he wants to say. The senior citizen wants to file a
complaint with the police. Which of the following methods
would you adopt to resolve the situation amicably?

Yo B AT IA AT Y b, IRY ANTRD B ST

HETIdT AR Ask for help
from people who
witnessed the incident

HIER B P JATE &I
Will advise senior citizens
to behave well

c. GAIASH BIYWSHRI ~ d. Ml Y&l P ifd §1Y
3R ST AP A & TG & T BT Wil ask
f?ﬂ;libﬁﬁ would slap the both sides to maintain
young boy and ask him to peace
apologize

70. %mﬁw@mﬁrmnaﬁmmmw

The main reason for the problem of law and order in India is-

a. G T4 IoHIa® b. YYTHIR U4 3URTY
social and political corruption and crime

c. Cldbdiid IR d. WY 4 Al of the
Democratic system above

71.

72.

73.

74.

75.

ARYEIAS U & Wag-=ia &= ¥ fgad yw=mafas wd
g siftraTial @) e HieTs a9 vam & fore
ATaIF B -

Administrative and police officers appointed in communally
sensitive areas are required to maintain communal

harmony.

i IIEARF UG b, IoHfA® gard H 3HR
S Y gD ITHR T Ueia serfargl ® |
ey RTUd B | Under political pressure,

Establish harmony by take one-sided action.
making contact with
religious and political

enlightened people.

et faRiy & Uy d.
N SEEERINGIHRIT]

P3| Show insensitivity
towards particular religion.

TR &7 9 Ul
TYMFIARUT HAT A | Get

your transfer done from
the concerned area.

o &1 =T 1 31k B-

'Rule of law' means-

ST S qaredm b. A DI HSRAl
supremacy of law strictness of law

BT B s d. ST Bt IH equality

originality of law before law

JPd HaeR & g # & Fr uRom ga &2
Which of the following are consequences of adaptive
behavior?

vavies R oed b, WRIFAD 9 GHRIAD
WW&‘FUT&_CIT% WW%I Healthy

Provides adaptive behavior conversation and positive
protection from conflict results are obtained.
situations

IIHAARR IS Bl d. SRIad A Y DIs T8l
ﬁ?-l'l'\’_cﬂ%l Friendly neither of the above
behavior improves

relationships.

T@#ﬁaﬂamﬁ%wmaﬁﬁﬂaﬁm AT @1

What should the police keep in mind while searching the
vehicle?

K] 6 Rl 1 e R G |
e &I HeT a1y
the driver should be asked
to exit the vehicle

b. TARN & TG AT6 B
=it gferg & o g
E|T%'QThe keys of the

vehicle must be with the
police at the time of the

search
qre & fe it &l d. IRIad TH All of the
HaYTgde® db HRAT above
E|T%'Q Vehicle trunk should

be checked carefully

YRR 3t 379 W4 & Ufd g1+ arelt ge-rsil R driargt
FH AR

Police should take action on the incidents happening
towards themselves-
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a. TTHMIYd® Td HoR b. FHFIYE®, S Td
arbitrary and harsh FOR arbitrary, fair and
harsh
c. UhdlUeRid $d gu d. IWRIad A B Tal

neither of the above

3fd, HoR farg e
fair, strict but legal,
showing unity

76. igITE B 30T 3 I F A€ IugEd Ueq @-
a. ggl b. g
c. foreiifamm d. fadisf

77. 3R T IIW, 39 YT &1 31 3 82
a PR dagase b, Yufeas sHER g gl
SR BT
c. T MAqqe RIS AT d. fhdi oo FR™ T ST
T ug

78. M 1Y 7 NS WIEr, APt o1 9t rf |1 R?

a. Had 3T HH I HH b. 9gd 9G-8¢ PR &Id HRAT
G

c. mé%maﬁ%ﬁaﬁ’rm d. FSTUD 3R Y & giell
El

79. fora geTay @1 ordf g el P gl B SleAr 32
a. ©IC-HIC &1 U Ui b. 30 Ufd R FegTe! ARAT
c. 3o IHAT d. ICI IR BIadTd &I S

80. fufufaa#d fPaaeiie o1 ard [l ad R afse
BIPY 1Y BT 82

a. TR ot @wr =

c. 9 3rac ARR fearar

b. g & Ay g oft e @
d. 5 A @ TRAS 4

ERRIBES IS
81. frafafea % & adt g g d AT 32
a. Hﬁ+§'¥[=ﬁ=ﬂﬂ b. 33+ HM=aff
c. 3fa+anfe=sanfe d. far+ eraR = famsR
82. fufafad d 9 :19 91 v Ui~ &1 yuigar! T8 82
a. Yol b. AT
c. AW d. 3ffg

83. fRuU <l & YR W IR ifore-
(i) PRI (i) TR (iii) PaTdY (iv) FEH
Iued Tsgl § / “WR” & yaigar S A 82
a. (i), (i) 3R (iv) b. (i), (i) 3R (i)
c. (i), (iii) 3R (iv) d. (i), (iii) 3R (iv)

84. frafufa # A frw arRie s 1 g a8 22

a TTOH-WHSIIAF b, RAR =R B AR
U
c. TEUA=TEARYIY  d. IPHR =[N BT FAR

85. frufafaa # A fea e ue &1 faug Tea &2

a. WFEH=THH A b, HIHd = HT 3R 3NPd
are

c. cieHd = Harg s
HIA

86. frufifad # & 9 ar gy ug wdt 78 22

a. JUNEHT=SIGHIE b, TANTRITE = UGRT & forg
UK

c. gEGE-YERGE d. HGod =Yg AR

87. PHA, TG 3R A, fpd 2reg & 31T §:
a. STl b. T
c. gur d. P

gs. fafufea# 3 frw e & 9t g sl 32

d. d9act = ufd geft 1 IHg

a. 3¢fiF, mpien b. fafa, Frue
c. Tdorelt, yiReft d. aure, ged
89. fufufea o d g ad+t arat 2rsg &1 au= BIfvTT-
a. WP b. ARIRI®T
c. HIRRI®T d. TR
90. FEfafEadd fry fAew » Il T s &2
a. HiEGIR, Tomfd, gyt b, wIRof, yidt, y
c. URRE, UyF, uw=m d. @, umiidg,
91. ad PR A P-H1 Vg AL &2
a. Isad b. WdleT
c. s¥ig d. Srgfed
92. 3T A ey ¥ RAdw.gm a7t &2
a. STgd - 3MMgd b. T WXY
c. 3mfaufa- foRivma d. 3fEfEH -dH
93. 3afy &1 faeH s &-
a. SR b. RyarT
c. I d. TRMH
94. TN AP A1 AEH-gH T AL 82
a. 3R -TR b. $dI-HdH
c. - drEd d. fasgd-ga=
95. W&y o1 fadH e FTR?
a. gfa b. &Y
c. TRIehEar d. WE

96. frafafaa# 4 fra fawer o quya I g o1 3rd.-9g
LB S
a. SFMNF- g =oFeH- b. fa-3fa-Tmfa-

THSHR PIcaGE
c. Ufted-Ulted =fagH- d. M- TN = R -
fagn I
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97. T I 5w arer | Srdw fpar g g5 2

a. ST ded? b. TR & A @

c. Reagufim d. fadie @ =@
98. T 3 fr aru ® e forar waa g5 82

a e TAd s b. IH IR

c. TfdegadTg d. ST S @t ®

99. fwfafEa ¥ A qdeifers frar fra e @2
a. HEMIUSTIRUGIAT b, IS Ial &

c. PG AR d. ¥ =oH &l g &
100. R Urg $o 7 8r, 39 AT > Y Uy U -

a. PUul b. Sifdad

c. gftfer SRIGIGUIGED

101. Wﬁﬁmmﬁm%mw’rmqﬁ
a. WW—W b. et ar A fhar s

qh— 3
c. SHPTHFEWRAT— d. et o s aeE
3fdd

T areT— IgrRA

102. fHaddy e fva areai=r & fore wgaa gime
a. N e DI ARG HoE b, o §1d Yddbrad 9 At &

TG PR AR e gl
c. NIGITI AP BERUD  d. G| P Had Gl Bl
e arell

103. fFafafea ¥ A v @Ry I FTA13?
a. 3=dd =3 + 5qd b. W@NId =¥ + 3T
c. Gl =g+ Hed d. IRg="R+9

104. HARST &1 G Gi-DT e -

a. T+ 3 b. TF:+ ¥
c. T+ 3ffoH d. H9:+SH
105. ORI ATSIE HT 3 dfreea ga™ arar Syt dI ATR?
a. MW b. R
c. & d. 3
106. frafafEa & 3 foa g & @ Iwwl g1 3?
a. Tbed b. guH
c. WUd d. WHR

107. QTS Xeg W A Weg 9 Uedd B SETT-3ET BT

a. U+Qls b. UgT+%

C. EI?‘.!'+\3'I'I'5C d. ‘T(‘E+€
108. PRI AT IRTITS AR

a. dNA b. Tl

c. UamEd d. TSHUA

109. Profaf@ad@ srgsareas-
a. %ﬁmﬁa&aﬁﬂm b. gﬂ%mﬁmwuﬁﬂ

c. P A PR BIAEE  d. GRGdT oI gERT T Tei|
fearon e

110. fFafafEadd s ara -
a. PURMIIFIEG S b. PO FEI &
c. PURMFHIITIAWIE d. FUIRLUIITHIIG &
111. Fufafea & @ 59 ew & A M 38 RER
vafgar 82
a. faftR, g
c. 3HIHEY, dd

b. TTal, Wi
d. $gH, facy

112. fFufafaa # 9 59 fAeaw d T T I W
qgfaars Tl 82

a. fo=m, arfEe b. U, Yd
c. HH, TSI d. ag, fhfcig
113. WAy & gRT fFdq yerR & amura Rufaat #t
uf¥peq 31 T 22

How many types of emergencies have been envisaged by the
Constitution?

a. $IqID b. &
Only one Two
c. dHF d. IR
Three Four

114. HRIA 9o S RIEE T8I H____ Feronargl

The largest irrigation canal in India is called

a. @G T8 b. THATTER
Sirhand Canal Yamuna Canal
c. Sferme R d. ST TR e TR

Indira Gandhi Canal

115. SN AER ST $81 82

Where is Dachigam National Park?

Upper Bari Doab Canal

a. S HR b. feam@ U™
Jammu and Kashmir Himachal Pradesh
c. TWIS d. U9
Uttarakhand Punjab
116. UM Rz AR, St 919 SR & gy e 3, Fafafea
A fra@adas A2
Paan Singh Tomar, who was a seven-time national
champion, was associated with which of the following
sports?
a. Mal%hd b. iU
Shot put steeplechase
c. oA d. Bl
float Hockey
117. JAgHd 3d o maiford far S 81
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Sulahkul festival is organized in

a. 3RI b. PMYR
Agra Kanpur
c. TS d. BagR
Lucknow Fatehpur
118. HATA IU€ INT3:
Karnal bunt disease is:
a. S HUA B b. TIg Hd BT
of barley crop of wheat crop
c. ORI AT HI d. SAR A hl

of millet crop of sorghum crop

119. &9 O1 9Ird HifSar Wewid U aR' e BiR &1
T8&Ir BT B, S IuANTHatsl H widier @ral § 39
U & & S9I1a1 32
Which social media platform tests a feature called 'Tip Jar',
which enables users to send money to preferred accounts?

a. Bagd b. fgex
Facebook Twitter

c. ewTlw d. eI
TIC Toc Whatsapp

120. el & Q9 @ aEra I Haere= Iwur 32

Which of the following is the winter capital of Ladakh?

a. Eb‘l?;: b. 8

Skardu leh

c. HRMAA d. e
Kargil hermes

121. YT 3R HRTd B gRIRIT 82

What is the currency of United Arab Emirates?

a. T b. faveH
Rial dirham
c. SR d. o=
Dollar peso

122. A4 SR Bt FrdT gy & fraq srgwe 82

How many articles are there in the Universal Declaration of
Human Rights?

a. 15 b. 20
30 d. 35

123. HRAH YD BT @1 HEl gld1 8?
Where is mica mined in India?

a. THRIETE (TSRYM) b. T (f4ER)
Nasirabad (Rajasthan) Gaya (Bihar)
c. AR (Y USRI d. SW&aqft

Nellore (Andhra Pradesh)

124. 47 3 FUIS REHR $t fasrar wfawr I fora uron &

f%l@?ﬁ %? In which language does Pratibha Rai, winner of
the 47th Jnanpith Award, write?

a. S b. fa=t

all of the above

English Hindi
c. S d. Sfear
Bangla Oriya

125. W4 RERT & YrdHg NYm HT HF AT AT
¥ara § & wgiaar &1 sfteR fadf 9 st W R
FRATR?

Which article of the Universal Declaration of Human Rights
states that the right to nationality depends on one's will?

a. 3fJ®G 10 b. 3J=G 20
Article 10 Article 20
c. 3430 d. 3J®q 15
Article 30 Article 15

126. fFrafafEd gl $1 376 dws } AR Hvb T
@'ﬁ'\ﬁ S gﬁnz: Match the following works with their

authors and choose the answer from the correct codes:

(a) [gpI3® Ufol () Bw ferpraa
(b) FEwiige SETi® (i) [GGeE GEFHE "SI
(c) e faeiR (DSESEIEARSPE!
(d) FEH3d g (iv}FﬁEaﬁ'Wﬂm

a. a-iii,b-i,c-iv,d-ii b. a-ii,b-iv,c-i,d-iii

C. a-iii,b-i,c-ii,d-iv d. a-i,b-ii, c-iii, d-iv

127 THR B TG I A _ W 9 I &I & 7 &

gfeHTRd fPar s aear 2|
Birth rate can be defined as the number of birthsat ___ina
year.

b. SIETATHT 10000
10000 of population

d. STHIPE Taf

none of these

a. SIISAT BT 1000
1000 of population

c. SFEBATHI 100
100 of population

128. fufeafae e #3:

Match the following:

SHIUFT ERGE
HHT BT
1. T (A).21
ESREGIED
2. 7 (B).14
af &1
3. HRBR (C).19
i [d- DI
4, PR (D).[300A
a. 1(C), 2(B), 3(A), 4(D) b. 1(B), 2(C), 3(D), 4(A)
1(B), 2(C), 3(A), 4(D) d. 1(C), 2(B), 3(D), 4(A)
129. fFafafla & @ o9 91 vy URd ® O &1 99 T91
IS &2
Which of the following states is the largest producer of chilli
in India?
a. THUS b. T &TA
Madhya Pradesh West Bengal
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c. YUY

Andhra Pradesh

d. STRIH

Rajasthan

130. g 3R AT B A URA B T B

Goods and Services Tax has made India

a. TP gd 3R U Uy b. e AT TR
CIEIN

a common market

An East and a West market

c. 3T SR} BT GHE d. U SR 3R Td IR
group of separate markets CININ

One south and one north
market

131.  THST 9 BT I¢H RA FTE?

What is the origin of Narmada River?

a. gdysT b. 3R&bCH
Satpura Amarkantak

c. safd d. ufge are # ga
Brahmagiri slopes of western ghats

132. < Fcd 3w URaa= sftsars aas 3:

The author of ‘The Roots of Ancient India’ was:

a. .. Tpadl b. St spraT™
D.K. Chakraborty D.P. agarwal

c. ST HeRudw d. Oy

W.A. Fairservice A. Ghosh

133. &9 W6 7 "HAWEF" THE YR 9l Teka
faram
Which organization developed the Indian robot named
"Vyommitra"?
a. C-DAC b. ISRO
TIFR d. DRDO

134. frafafEa # @ 19 yg  sictas & yad® -

Who among the following was the originator of Bhoodan
Movement-

a. &nimf:ﬁ‘s{éﬁ Acharya

Narendra Dev

c. 3Rfdg ™Y Arvind Ghosh

b. 3MTEr fa=rer Q-H%Acharya

Vinoba Bhave

d. @I@WJ B Kriplani

135. UYRd ¥ 3 RA W & U 4o geu gadid (wel)
garewifd R a d

What was the Wholesale Price Index (WPI) inflation rate for
the month of August in India?

a. -0.52% b. 1.36%
-4.12% d. 0.52%

136. it = A Sanfea avgai ik Aarsil F1Ha ged
g ok 39 v fafdry awg fmr A Arar Sman g1
is the total value of goods and services produced
in a country and is measured over a specific time frame.

a. R IoA b. T&d IATHIYT TeT
non-tax revenue gross fiscal deficit
c. UHd gorcrg gHY d. THd IR 3G

gross budgetary support Gross Domestic Product

137. YRG-UIfhwd= HH1 Hgard! 3:

India-Pakistan border is called:

a. PHE @ b. §¥S Wl
McMahon Line Durand Line
c. oy d. YSfeaw v
Ripon Line Radcliffe Line
138. S YIRNTH ARTM &A1Y YRA & 6w Isa & AiFeise
FT I IST SR 3?2

Which state of India has the largest reserves of monazite
with high thorium content?

a. od b. Picd
Kerala Karnataka
c. ToRId d. HeRIY
Gujarat Maharashtra
139. FFufafaa o @ 5 Qo & Fia, e 4R
TEIUATS' RTeq T FEAATS T SITdT 82

In which of the following sports, the terms 'crawl',
'breaststroke’ and 'butterfly' are used?

a. It b. Q]ﬁ"l
swimming Shooting
c. <9 d. Ssfifed
Tennis badminton

140. IR YN IWBR A I | fra AgaR 1y gierd
WYH W &1 q@ ?ﬁ %? How many cyber crime police

stations has the Uttar Pradesh government approved to
open in the state?

a. 47 b. 57
67 d. 75

141. g9 € # f5aa 9 wiv $f$a1 ‘KRUTRIM AP BT SFTAROT
faT 82 Who has recently unveiled Made for India
‘KRUTRIM AI’?

a. 3Nfe i Aditya Mittal b, IHT 3RIATA Umesh

Aggarwal

c. HIfaw 3FraTd Bhavish d. AP & Umakant Jain

Aggarwal

142. 9 § ® &9 uniproir & T g 1S weel uR<d
II'%?IT g+t %? Who has recently become the first Indian
woman elected to UNIDROIT?

a. W’-ﬂ?_rﬂPushpa Bharti  b. TIfHT a¥H Fatima

Wasim

c. gfadl TS Savita Ladge d. JHTTRER Uma Shekhar

143. f5d A fivadt &1 Ul / gwnfaa fear w22

Who has been awarded the standard PhD degree?

a. feefiufesst pilip Tirkey b. ISifdeR fAE Rajwinder

Singh

c. Udie AR Pratik Tyagi d. ﬁ'&;ﬁnone
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144. TR 3T MRT TR JHARIE 1 ATAIS Bl fpar T

%? Where has the third Atal Gaurav Samman Ceremony been
organised?

a. 93 Lucknow b. :ritﬁﬁ'_vﬂ New Delhi
3gHaldlc Ahmedabad d. Hd Kerala

145. g9 & ¥ 3t RUid & SuR g W & AR &1
e yfo=ra W 78T | §IPR [T 82

According to a recent report, what percentage of the world's
trade passes through the Suez Canal?

a. 5% b. 6%
c. 12% d. 13%

146. TA & § fFuq < Mviae v @i fpar @2 Who has

recently launched ‘Project Prayas’?
a. WHO b. 10M

UNESCO d. &3 Tl none
147. 2027 {3y &< IRARN BreTa &) AvaH P AT

PHM? Which country will host the 2027 World Test
Championship final?

a. HRdIndia b. G{WAustralia

C. Qaﬁi &S New Zealand d. ?ﬁ?England

148. T & ¥, URd IR A U5 RIHR I GHTH foma|
WEQ’QH%WM'&W’?IHWW’ Recently, the

Government of India conferred the Padma Award. Usha
Uthup was honored in which category?

a. ddlart b. &Tdefense
A BT social work  d. 33 science

149. HaTe UTITAY gRTHIHARIE H T TS ¢ 19 & faorar
F ¥ H fHa w7 a1 T2 Who was recognized by the
Supreme Court as the winner of the re-contested elections in

Comoros?

a. IBIb AIEHE Rafiq b. 3Tl ST Azali
Mohammad Assoumani

c. 3gHG 3fegedl Ahmed d. 3fcft faF ¥se IW Al bin
Abdullah Saeed Omar

150. I. A amFe gRT fiefia yRa @) et Mifd®
mfﬁi‘rwﬁd’rmqmw%? What is the name of India's
first oral contraceptive pill developed by Dr. Nitya Anand?

a. gD Assistant b. FIE'IW assistant
c. T partner d. ﬂ%ﬁ‘ﬁSaheli
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